MAIRCY

OYLMPIC WEIGHT BENCH
MWB-7096

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
240729




O©IMPEX INC. Www.marcypro.com



mm

i © © m

@xs @x21 xs @xw

0 ©

30 40 50 60 80 90 1@ 1D 1D 1D 10 1D 1® 10

0

||I|||1‘I|I|I|\’lllllllllllll'\’l|||||[’||I|I|I|||I|I|T|I|I|I|I|I|I|I‘||l||||I[‘lllll‘lllll'll\|l|l|l‘I|I|I|I|I|

1 n 2ll 3" 4" 5"

6" 7"

O©IMPEX INC.

www.marcypro.com



@
@
@

(CE—
im
©

M10 x 33"

35

33

N

O©IMPEX INC.

www.marcypro.com



X 4

® ®

e
° P
)
° o
° )
o o
o —(2) °
o °
) 0/@
° )
o °
o °
o 0
o )
©
)

O©IMPEX INC. Www.marcypro.com



.‘w%
%

m m Hist
o~ o ~N
4 x x

®® ®

@0000000000000

@0000000000000

Www.marcypro.com

O©IMPEX INC.



i

M10 x 3"
M10 x 3"

O

N ™ (sp]

olololo

90000000000000

@0000000000000

www.marcypro.com

O©IMPEX INC.



q"%

M10 x 4"
M10

E©

(a2 sp] (o]

®®®

A.w o 0o O O O 0 0 0O 0 0 o 0 <@

www.marcypro.com

O©IMPEX INC.



M10 x 4"
M10
@%u

E©

— N

®®®

TV
o 0O © o 0 0O 0 0o O o o o ©

Tw
c 0 0 0O Q0 QO QO QO 0O Q Qo o Qo

www.marcypro.com

O©IMPEX INC.



Hico

(@) o

Bl

©

() x s

e..-!

=

o 0O o 0O 0O C O 0 o0 o o0 C M.\.,,.,,_

www.marcypro.com

O©IMPEX INC.



\e

@000@000000000

10

Www.marcypro.com

O©IMPEX INC.



11
O©IMPEX INC. Www.marcypro.com



IMPEX® INC.

2801 South Towne Avenue, Pomona, California 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.marcypro.com
support@impex-fitness.com

12
O©IMPEX INC. WWWw.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

